0N

ERBF 1EB DL
[=iva K 4 FAE B 4 i H D E TR =Y - 1=(v2
LK F | i dbifmER R 77 (270> 7.550 0 6.900 14.450 | 1
2 | A B K i dbEEEREY 77 (A7 42 5.800 | 4.850 | 0.20 10.450 | 2
3 M H A K| &2 dmEREME &SR AT 02 5.900 | 4.300 10.200 | 3
4R A L E &2 WmEEERSSETR| 777 5.300 | 4.300 9.600 | 4
5 R b E | &1 dmEREEESETR, 777 4.900 = 4.000 8.900 | 5
6 | W N &1 dmEREEESETR 777 5.050 | 3.800 8.850 | 6
T W B | |l dmEEEEEETR 277 4.850 | 3.000 7.850 | 7
8 | Kk H 1 HE | &2 AWREREMESET | ATy 4.600 | 3.100 | 0.10 7.600 | 8




